AXUBELRL BB EHETZRBRAFENK - HBAXHEHERE SR —IMAXHER & —F -

B 8% = ARBR (R IVKEESR

T I £R Py G B A 0 R 4 R\ W 25— I A 2 ] AR K B TR P
(BB B a1 Rl A ZAG & AR £ & — il 70 A A B 2R T il DT 2 o oK A6 3 Rk
BV B FES AR | BREE) [ B B R ER— P i e af Bk & — DF P

A, REBERGRRIEABBLEERE

AR E R E L BB SRR A T G B EHHRR IR (RE 54,29 R B 4
BRI S WHEUR HEAEBMEE2015F 12A3HNGEG AL EEFEMN M
MU 4R BE1C 2015412 31 H #EAT » H TG R A A Rl BEA AN EAS AL B A 2 20154F 12 4
SIHMA A AT EETE ek B A SO Bk — BTl i & st BlidRk 5 ) > 34T SCRTHl/E il

# o

RAEH AL A B | KC T A B I E AR AE Bl B H T A > RO - R
W6 FE L S A 20 154F 12 A 31 H [ 45 58] % [4R 881 2 5¢ U AT A AR 24¢ H 393 9 5 K
o e

HEN15%
HEWNISE 128318
12A31R KATARE
ROTARE BEAELRL

BEARE  (FE]  REEH
AgEsSs  HHGE  (SEEEE  REENEESE
BREERE) B APAEFEY SREBREVEEFEY

ARETRT ARETR  AR%Txn ARET BT
RRE R REE 60,216 (% ) &% 8
ik AT IR 60,216 (RE (RE (RE) R

(1) HE2015F12 31 A R BIS 4 A AL EEFME - RN ZE2015F12H31 B R EILEER G EE
FEAHNRB60.8H &t (FHBRE E20154E 1231 H AR ¥0.6 1 & 0 hY pg 2 & A\ R ¥0.05H & oy I
W) (g st i s o et il s 2 SCEOR A SCHERH R —) BHE -

(2)  [HREMEFIHREEIT AT AL B IR [ AR B ] S [ 4R BE 100 46 75 M (4R 3] (B9 22k [ 4 B8 8 ) 1) AL A3 0 % i 2
) SRR B R AR EIH BIBA SR R E! R R 4R BE VAT {6 T MY A6 B R AT AT Al B A B AR
)RR AR — FRCAS R T TG 58 A R AT Sl M 1] AR AT JR A o (AR BRI T IARBE] 9% Hh B N R ERAT20164E6 H 20 H
R AT FE 2R 1,003 70 56 A R 108468 G H s 5T s AR -

(3)  RECH AR EE AR S BB A T 0 B T AR b SC By il 2 R - AR AR BRI B B BT (R
(48] X% (4 58] 22 20154F 12 A 31 H S8 /) MY REYEGTET » (HR Gt R IR 4w B 14847 o 7 T fE i 3% 2% 3847 94T
AT A7y TR 2 AR — S A2 M T O P 3 % % 47 s [ 9 A T B A

(4) B R A A A B ) K A A T T R R R LA R 20154F 12 H 31 H 2 AR I AT AT 22 oy A R el AR 4
M HT S HABZE 5

3) R OR R R B AT A TR I E T 5 AR S AR AY R AE % 1009 7C 5t A\ 50,8468 T 1 FE X
PR S S TT B R o IR R AR TS - 0] LIS AT a% fE 3 00 A s ot (IR ZIRER) -

-1I-1 -



AXUBELRL BB EHETZRBRAFENK - HBAXHEHERE SR —IMAXHER & —F -

B 8% = ARBR (R IVKEESR

EES

-1I-2 -



AXUBELRL BB EHETZRBRAFENK - HBAXHEHERE SR —IMAXHER & —F -

B 8% = ARBR (R IVKEESR

EES

~ 113 -



AXUBELRL BB EHETZRBRAFENK - HBAXHEHERE SR —IMAXHER & —F -

B 8% = ARBR (R IVKEESR

EES

|



